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FA 2B Z 0
I 2T Mt
e 2AFESI|E EE (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
& 171,000 171,000 0
i 50,000 30,000 20,000
01 At 2teltl 189,000 169,000 20,000
OADIESO2S (AEISO) 50,000 30,000 20,000
< 30,000 30,000 0
z 20,000 0 20,000
22X 22 131,944 81,944 50,000
401 AlZHIL S CHY] 81,044 31,044 50,000
01 Al 81,044 31,044 50,000
O2t& X ¥ 2 TENLX AIE 224 81,044 31,044 50,000
KNSt =M (MEHEEH) 140,000 70,000 70,000
< 28,000 28,000 0
i 112,000 42,000 70,000
307 2IZtol & 140,000 70,000 70,000
< 28,000 28,000 0
z 112,000 42,000 70,000
04 QIZHHARAIH E X 140,000 70,000 70,000
OHSE 2ZYS(UE=EM) 293 140,000 70,000 70,000
= 28,000 28,000 0
= 112,000 42,000 70,000
2+ QURFH 2el2E 16,900 13,100 3,800
201 Ler= Y| 11,100 7,300 3,800
2 =23l 10,600 6,800 3,800
O2+ UEHH 582= 2,600 1,800 800
O2% USHH FAEH 8,000 5,000 3,000
2T N AL (REA) 286,000 183,000 103,000
201 Let2aY| 16,000 13,000 3,000
01 Ab2teltl 16,000 13,000 3,000
OElHEE s 28 =238 7¢ 4,000 1,000 3,000
401 AlZHIL S CHY] 270,000 170,000 100,000
01 AlZHI 270,000 170,000 100,000
OX=2ZX AFKI|2 4 40,000 0 40,000
ORgd H0Id XA =#y=xy 849 60,000 0 60,000
el AZ00IHE =4 At 301,000 201,000 100,000
< 100,000 100,000 0
z 201,000 101,000 100,000
401 AlZHIL 2 CHY] 301,000 201,000 100,000
= 100,000 100,000 0
= 201,000 101,000 100,000
01 AlZHI 300,000 200,000 100,000
OXIZO0t0lHE RAAY JI2 2 AAIEH 300,000 200,000 100,000
T 100,000 100,000 0
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SA: 2EXZD
I BRTRNY Heteels)
s 2AFESPDIE BF EER=E)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
| = 200,000 100,000 100,000
4 AT HHIAY (HEAIY) 2,700,000 2,400,000 300,000
= 1,200,000 1,200,000 0
2 1,500,000 1,200,000 300,000
401 AIZHIZ 2 0HY| 2,700,000 2,400,000 300,000
= 1,200,000 1,200,000 0
2 1,500,000 1,200,000 300,000
01 Al&H 2,700,000 2,400,000 300,000
02492 22X 25 X H 300,000 0 300,000
@40l 22| 2 65,400 45,400 20,000
401 AlIZHIZ S THH| 37,400 17,400 20,000
01 Al&Hl 37,400 17,400 20,000
0% oi74 AEI|E BH(0IH) 20,000 0 20,000
AT ZobR! AMAAS 11,750,000 11,270,750 479,250
2 136,000 136,000 0
= 1,701,000 1,625,500 75,500
x 4,000 0 4,000
2 9,909,000 9,509,250 399,750
NESIERSE T 3,590,000 3,464,000 126,000
2 3,000 3,000 0
= 1,625,500 1,625,500 0
= 4,000 0 4,000
2 1,924,500 1,802,500 122,000
AMTIZ AR LAY 816,000 694,000 122,000
207 I 22,000 0 22,000
NIEEEETT 22,000 0 22,000
OFOI|2 L ACHol ZRTCH 29 22,000 0 22,000
307 2120 365,800 305,800 50,000
ETRIERONEEES 385,800 305,800 50,000
OYUNXIZER SFS Tl 243 X2 50,000 0 50,000
401 AlZHIZ 2 THH| 200,000 150,000 50,000
01 Al&Hl 200,000 150,000 50,000
OYUNI ZREME BFE2AIE HE 50,000 0 50,000
H3)| SRAUMZZAL SHAL(HEAY) 2,094,000 2,090,000 4,000
= 1,545,000 1,545,000 0
x 4,000 0 4,000
2 545,000 545,000 0
303 LA 4,000 0 4,000
x 4,000 0 4,000
NERE 4,000 0 4,000
020238 SRALFAIY MBI} OIHEIS
=EES) 4,000 4,000
x 4,000 4,000
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UAIX| RAY HE2AAS]
XEAS D= R A )
M- - SA(3) - MRAY - BES Ol &koy N3 A Hwsz2
XRAY JIBtR= 2,639,000 2,357,000 282,000
< 75,500 0 75,500
z 2,563,500 2,357,000 206,500
QAR Zep| 222 2,387,000 2,357,000 30,000
401 A& HI 2L 24| 1,387,000 1,357,000 30,000
01 A& 1,387,000 1,357,000 30,000
OYAIXI ZHIOIID XA 130,000 100,000 30,000
XIZHIOHIIA B0 s BICIXQ AM 252,000 0 252,000
[ 75,500 0 75,500
= 176,500 0 176,500
401 Al HI L L0 252,000 0 252,000
[ 75,500 0 75,500
= 176,500 0 176,500
01 Al&ZHI 252,000 0 252,000
OXI=HIOH}A &HOIY BSCIX ZAEAY
(H4ed) 75,500 0 75,500
< 75,500 0 75,500
OXI=HIOH}A ZH0IY B2CIX ZAEAY 176,500 0 176,500
RIZJEHH =8 2435} 3,821,000 3,749,750 71,250
AR ZHIOHIT APHZE Z0lg 292l 816,000 744,750 71,250
101 QIAH 273,600 343,600 AT70,000
M IRN22IsE% 273,600 343,600 AT70,000
OIXIXID| Hz=D] el
100,0002 10+ 10 10,000 60,000 AB0,000
OMZ, 20D 847] 212
100,000 * 10 +20 20,000 40,000 A20,000
201 LBt2HH| 29,650 49,650 A20,000
® 3249l 12,750 32,750 A20,000
OXDIY 22| Al 8 B2 1,000 5,000 4,000
OFDIBAE 2= 1,600,000 33| 4,800 16,000 A11,200
O22RS (B2, ®II2 5) 4,200 5,000 A800
OXtg 2 I =yl 2,000 6,000 24,000
206 TH2H 131,500 121,500 10,000
01 JH2HI 131,500 121,500 10,000
OgAZ0 7Y 10,000 0 10,000
401 A& HI L2 OHH| 381,250 230,000 151,250
01 Al&ZHI 381,250 230,000 151,250
oI Za2e 45,000 0 45,000
OHSE ¢=9 43 20,000 0 20,000
OF0IE 24T 2A 15,000 0 15,000
OZ0IE g=HYE &X 71,250 0 71,250
vieiSS At e 5 727,200 697,200 30,000
[ 27,000 27,000 0
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